
 

  

 

 

B.P.P. EXAMINATION, DECEMBER 2018. 

(English Medium and Tamil Medium) 

PREPARATORY COURSE IN COMMERCE 

Time : 1.30 hours Maximum marks : 100 

 General Instructions : 

 1. All questions are compulsory. 

 2. The Question Paper consists of two Sections. Section–A 
consists of 30 Questions and Section–B consists of  
20 Questions. Each question carries 2 marks. 

 3. Section–A has 30 Questions with four alternatives, one of 
which is correct. Write the serial number of your correct/ 
alternative answers below the corresponding question 
number in the Answer Sheets. 

 4. Section–B has 20 Questions, which are of True/False type. 
You are requested to write ‘True’ or ‘False’ below the 
corresponding question number in the Answer Sheets. 

 ö£õxÁõÚ SÔ¨¦PÒ : 

 1. GÀ»õU ÷PÒÂPÐUS® Âøh¯ÎUPÄ®. 

 2. C¢u ÂÚõzuõÒ Cμsk £SvPøÍU öPõshx. £Sv–A–ÂÀ 

30 ÂÚõUPÒ EÒÍÚ. £Sv–B–ÂÀ 20 ÂÚõUPÒ EÒÍÚ. 

JÆöÁõ¸ ÂÚõÂØS® 2 ©v¨ö£sPÒ. 

 3. £Sv–A–ÂÀ EÒÍ 30 ÂÚõUPÐUS® |õßS ÂøhPÒ 

öPõkUP¨£mkÒÍÚ. CÁØÖÒ \›¯õÚ Âøhø¯ 

÷uº¢öukzx ÂøhzuõÎÀ ÷PÒÂ GsqUS GvμõP 

SÔUPÄ®. 

 4. £Sv–B–ÂÀ 20 ÂÚõUPÐ® "\›¯õ/uÁÓõ' GßÓ ÁøPø¯a  

  \õº¢ux. ÂÚõUPÐUS R÷Ç ""\›'' AÀ»x ""uÁÖ'' GßÖ  

  SÔ¨¤hÄ®. 
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SECTION A — (30  2 = 60 marks) 

I. Choose the correct answer : 

1. Amount spent in order to produce and sell the goods and services 
is called 

 (a) Expense   (b)  Income  

 (c)  Revenue   (d)  Discount 

 ö£õ¸øÍ EØ£zv ö\´¯ AÀ»x £sh[PÒ, £o°øÚ ÂØ£øÚ 

ö\´²® {ø»US öPõskÁμ BS® öuõøP 

 (A) ö\»ÄPÒ  (B) Á¸Áõ´  

 (C) Buõ¯®  (D) uÒÐ£i 

2. Cost incurred should be matched with the revenues of the 
particular period is based on 

 (a)  Matching concept (b)  Historical cost concept 

 (c)  Full disclosure concept (d)  Cost concept 

 SÔ¨¤mh PnUPõsiß AhUPÂø» Á¸Áõ÷¯õk J¨¦÷|õUSÁx 

 (A) ö£õ¸zxøP P¸zx 

 (B) ¦μõuÚ AhUPÂø» P¸zx  

 (C) •ÊöÁÎ¨£õmkU P¸zx    

 (D) ö\»Ä P¸zx 

3. Outstanding rent A/c is an example for 

 (a)  Nominal account  

 (b)  Personal account 

 (c)  Representative personal account  

 (d)  None of these 

 öPõk£h ÷Ási¯ ÁõhøP PnUS GkzxUPõmhõP ÂÍ[SÁx 

 (A) ö£¯μÍÄ PnUQØS 

 (B) BÒ\õº PnUS  

 (C) ¤μv{vzxÁ BÒ\õº PnUQØS    

 (D) CÁØÔÀ GxÄ÷© CÀø» 
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4. An entry is passed in the beginning of each current year is called 

 (a) Original entry (b) Final entry  

 (c) Data entry  (d) Opening entry 

 |h¨¦ Bsiß Bμ®£zvÀ £v¯UTi¯ £vÄ 

 (A) ÷uõØÓ¨ £vÄ (B) CÖv¨ £vÄ  

 (C) uμÄ EÒÏk (D) öuõhUP¨ £vÄ 

5. Ledger is a book of 

 (a) Original entry  (b) Final entry  

 (c) All cash transactions  (d) None of these 

 ÷£÷μk J¸  

 (A) ÷uõØÓ¨ £vÄ Hk  

 (B) CÖv¨ £vÄ Hk  

 (C) öμõUP |iÁiUøPPÒ Hk    

 (D) CÁØÔÀ GxÄ÷© CÀø» 

6. Goods returned by customers are recorded in 

 (a) Sales book  (b) Purchases book  

 (c) Purchases return book  (d) Sales return book 

 ÁõiUøP¯õÍº v¸¨¤ \μUS £vÄ ö\´¯¨£kÁx 

 (A) ÂØ£øÚ Hk (B) öPõÒ•uÀ ¦zuP®  

 (C) öPõÒ•uÀ v¸¨£ Hk (D) ÂØ£øÚz v¸¨£ Hk 

7. If a cheque sent for collection is dishonoured, the debit is given 
to 

 (a) Suppliers A/c (b) Bank A/c  

 (c) Customers A/c  (d) None of these 

 Á`¾UPÝ¨£¨£mh Põ÷\õø» AÁ©vUP¨£mhõÀ, £ØÖ 

ö\´¯¨£k® PnUS 

 (A) \μUR¢÷uõº P/S (B) Á[Q P/S  

 (C) ÁõiUøP¯õÍº P/S (D) CÁØÔÀ GxÄ÷© CÀø» 
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8. On Jan 1st 2002, Rs. 1,000 given to petty cashier. He has spent 
Rs. 860 during the month of January. On Feb 1 st to make the 
imprest he will receive cheque for Rs. ––––––––––. 

 (a) Rs. 1,000   (b) Rs. 860  

 (c) Rs. 1,860  (d) Rs. 2,000 

 áÚÁ› 1, 2002 AßÖ ]À»øÓU Põ\õÍ›h® ¹. 1,000 uμ¨£mhx. 

áÚÁ› ©õu® AÁº ¹. 860 ö\»ÁÈzuõº. ¤¨μÁ› 1 AßÖ AÁº 

ö£Ö® £n «m¦UPõP ö£Ö® Põ÷\õø»°ß öuõøP ¹. ––––––––––. 

 (A) ¹. 1,000   (B) ¹. 860  

 (C) ¹. 1,860  (D) ¹. 2,000  

9. Bank Reconciliation statement is prepared by the 

 (a) Bank   (b) Creditor of a business  

 (c) Customer of a bank  (d) Suppliers 

 Á[Qa \›Pmk® £mi¯ø»z u¯õ›¨£Áº 

 (A) Á[Q    

 (B) ÁoPzvß PhÜ¢÷uõº  

 (C) Á[Q°ß ÁõiUøP¯õÍº    

 (D) \¨øÍ¯ºPÒ 

10. Wages paid to workers for the installation of a new Machinery 
should be debited to 

 (a) Wages Account  

 (b) Machinery Account 

 (c) Factory Expenses Account   

 (d) None of these 

 ¦v¯ C¯¢vμzøu {ÖÄÁuØPõP ÷Áø»¯õÒPÐUS uμ¨£mh T¼ 

£ØÖ øÁUP ÷Ási¯x 

 (A) T¼U PnUQÀ  

 (B) C¯¢vμU PnUQÀ  

 (C) Bø»a ö\»ÄU PnUQÀ    

 (D) CÁØÔÀ GxÄ÷© CÀø» 
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11. An plant worth Rs. 8,000 is sold for 8,500 the capital receipt 
amounts to 

 (a) Rs. 8,000  (b) Rs. 9,500  

 (c) Rs. 500   (d) Rs. 8,500 

 ¹. 8,000 ©v¨¦ÒÍ J¸ ö£õÔ ÁøP ¹. 8,500 US ÂØ£øÚ ö\´uvÀ 

•u¼Ú ÁμÄ 

 (A) ¹. 8,000  (B) ¹. 9,500  

 (C) ¹. 500  (D) ¹. 8,500 

12. Wages is an example of 

 (a) Capital expenses  (b) Indirect expenses  

 (c) Direct expenses  (d) Revenue Expenses 

 T¼ Gß£x Euõμn©õP C¸¨£x 

 (A) •u¼Úa ö\»ÂØS (B) ©øÓ•Pa ö\»ÂØS  

 (C) ÷|μia ö\»ÂØS (D) Á¸Áõ´ ö\»ÄPÒ 

13. Outstanding interest on loan borrowed is to be added to 

 (a) Asset A/c  (b) Income A/c  

 (c) Loan A/c  (d) Capital 

 Phß ö£Ó¨£mh Phß «uõÚ ]Ó¢u Ámi ÷\ºUP¨£h ÷Ásk® 

 (A) ö\õzx P/S  (B) Á¸©õÚ® P/S  

 (C) Phß P/S  (D) ‰»uÚ® 

14. All the items given in the adjustment will appear at in the Final 
accounts. 

 (a) Three places (b) Two places  

 (c) One Place   (d) Four place 

 \›ö\´u¼À öPõkUP¨£mh AøÚzx ö£õ¸mPÐ® CÖv 

PnUSPÎÀ ÷uõßÖ® 

 (A) ‰ßÖ Ch[PÒ (B) C¸ Ch[PÎÀ 

 (C) J¸ Ch®  (D) |õßS Ch[PÒ 
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15. Credit sales is obtained from 

 (a) Bills Receivable account  

 (b) Total debtors account 

 (c) Total creditors account  

 (d) Bills Payable 

 Phß ÂØ£øÚ ö£Ó¨£kQÓx 

 (A) ¤ÀPÒ ö£ÓzuUP PnUS 

 (B) ö©õzu PhÚõÎPÎß PnUS  

 (C) ö©õzu Phß PnUS    

 (D) £n® ö\¾zx® ¤ÀPÒ 

16. The capital of a business is ascertained by preparing 

 (a) Trading account  

 (b) Statement of profit or loss 

 (c) Statement of affairs 

 (d) None of these  

 J¸ ÁoPzvß uø»|Pμ® u¯õ›P¨£kÁuõÀ EÖv ö\´¯¨£kQÓx 

 (A) ÁºzuP PnUS  

 (B) C»õ£ AÀ»x CÇ¨¦ AÔUøP 

 (C) ÂÁPõμ[PÒ    

 (D) CÁØÔÀ GxÄ÷© CÀø» 

17. If selling price is less than the book value of the asset it denotes 

 (a) Income  (b) Capital profit  

 (c) Expenditure  (d) Loss 

 ÂØ£øÚ°ß ¦zuP ©v¨ø£U Põmi¾® ÂØ£øÚ Âø» SøÓÁõP 

C¸¢uõÀ, Ax SÔUQÓx 

 (A) Á¸©õÚ®  (B) ‰»uÚ »õ£® 

 (C) ö\»ÂÚ®  (D) CÇ¨¦ 
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18. The amount of depreciation charged on machinery will be 
debited to 

 (a) Machinery account  (b) Depreciation account  

 (c) Cash account  (d) Credit account 

 C¯¢vμ[PÎÀ Pmhn® SøÓUP¨£k® AÍÄ SøÓUP¨£k® 

 (A) C¯¢vμ® PnUS (B) ÷u´©õÚ® PnUS 

 (C) £n PnUS (D) Phß PnUS 

19. All solvency ratios are expressed in terms of 

 (a) Proportion  (b) Times  

 (c) Percentage  (d) Value 

 AøÚzx vÁõÀ ußø© ÂQu[PÐ® Ai¨£øh°À 

öÁÎ¨£kzu¨£kQßÓÚ 

 (A) ÂQu®  (B) øh®ì 

 (C) \uÃu®  (D) ©v¨¦ 

20. Liquid liabilities means 

 (a) Current liabilities 

 (b) Current liabilities Bank overdraft 

 (c) Current liabilities + Bank overdraft 

 (d) (a) and (c) 

 vμÁ Phø©PÒ Gß£x 

 (A) uØ÷£õøu¯ PhßPÒ    

 (B) uØ÷£õøu¯ PhßPÒ – Á[Q KÁº iμõL¨m 

 (C) uØ÷£õøu¯ PhßPÒ + Á[Q KÁº iμõL¨m    

 (D) (A) ©ØÖ® (C) 

21. Budget is an estimate relating to ––––––––––  
period. 

 (a) Past   (b) Current  

 (c) (a) and (b)  (d) Future 

 £möám Gß£x –––––––––– Põ»® öuõhº£õÚ ©v¨¥k BS®. 

 (A) Ph¢u   (B) uØ÷£õøu¯ 

 (C) (A) ©ØÖ® (B) (D) GvºPõ» 
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22. Budget is expressed in terms of 

 (a) Money    

 (b) Physical units  

 (c) Money and Physical units 

 (d) None of the above 

 ÁμÄ ö\»Äz vmhzvÀ £möám öÁÎ¨£kQÓx 

 (A) £n®    

 (B) EhÀ A»SPÒ 

 (C) £n® ©ØÖ® EhÀ A»SPÒ    

 (D) CÁØÔÀ HxªÀø» 

23. Under fixed capital method salary payable to a partner is 
recorded 

 (a) in Current Account 

 (b) in Capital Account 

 (c) either in Current Account or Capital Account 

 (d)  none of these 

 J¸ £[Suõμ¸US ö\¾zu ÷Ási¯ ‰»uÚ •øÓ°ß \®£Ízvß 

RÌ £vÄ ö\´¯¨£kQÓx 

 (A) uØ÷£õøu PnUQÀ    

 (B) ‰»uÚ PnUQÀ 

 (C) uØ÷£õøu¯ PnUS AÀ»x ‰»uÚ PnUQÀ    

 (D) CÁØÔÀ HxªÀø» 

24. In a partnership, partners share their profits and losses in –––––
––––– ratio. 

 (a) Their capital  (b) Equal  

 (c) Agreed  (d) None of these 

 TmhõÎß ÷£õx , £[SuõμºPÒ u[PÒ C»õ£® ©ØÖ® CÇ¨¦UPøÍ 

–––––––––– ÂQuzvÀ £Qº¢x öPõÒQÓõºPÒ. 

 (A) AÁºPÎß ‰»uÚ® 

 (B) \© 

 (C) Ehß£mhx 

 (D) CÁØÔÀ HxªÀø» 
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25. In admission, profit from revaluation of assets and liabilities will 
be transferred to the capital accounts of the old partners in the 

 (a) Old profit sharing ratio   

 (b) Sacrifice ratio 

 (c) New profit sharing ratio   

 (d) None of these 

 ÷\ºUøP, ö\õzxUPÒ ©ØÖ® ö£õÖ¨¦PÒ ©Ö ©v¨¥k C¸¢x C»õ£ 

£øÇ¯ £[SuõμºPÒ ‰»uÚ PnUSPÒ ©õØÓ¨£k® 

 (A) £øÇ¯ C»õ£® £QºÄ ÂQu® 

 (B) v¯õP® ÂQu® 

 (C) ¦v¯ C»õ£ £QºÄ ÂQu®     

 (D) CÁØÔÀ HxªÀø» 

26. On admission of a partner if goodwill account is to be raised this 
should be debited to 

 (a) Partners’ capital account  

 (b) Old partner account 

 (c) Revaluation account  

 (d) Goodwill account 

 |Àö»snU PnUøP E¯zv°¸¢uõÀ J¸ £[Suõμº ÷\μ ÷Ásk® 

 (A) £[SuõμºPÎß ‰»uÚ® PnUS   

 (B) £øÇ¯ £[Suõμº PnUS 

 (C) ©Ö©v¨¥k PnUS    

 (D) |Àö»sn PnUS 

27. A, B and C are sharing profits in the ratio of  
2/5:2/5:1/5. C retired from business and his share was purchased 
equally by A and B. Then new profit sharing ratio shall be 

 (a) A – 1/2 and B – 1/2 (b) A – 3/5 and B – 2/5 

 (c) A – 2/5 and B – 3/5 (d) A – 9/5 and B – 7/5 

 2/5:2/5:1/5 ÂQuzvÀ A, B ©ØÖ® C C»õ£[PøÍ £Qº¢x 

öPõÒQßÓÚ. ] ÁoPzv¼¸¢x Â»QÚõº ©ØÖ® AÁ¸øh¯ £[S 

H ©ØÖ® ¤ BQ¯ÁØÓõÀ \©©õP Áõ[P¨£mhx. ¤ßÚº ¦v¯ C»õ£ 

ÂQu® C¸US® 

 (A) A – 1/2 ©ØÖ® B – 1/2 (B) A – 3/5 ©ØÖ® B – 2/5 

 (C) A – 2/5 ©ØÖ® B – 3/5 (D) A – 9/5 ©ØÖ® B – 7/5 
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28. When the amount due to an outgoing partner is not paid 
immediately, then it is transferred to 

 (a) Capital A/c  (b) Loan A/c  

 (c) Cash A/c  (d) Expenses a/c 

 öÁÎaö\À¾® £[Suõμº Põμn©õP HØ£mh öuõøP EhÚi¯õP 

ö\¾zu¨£hõÂmhõÀ, Ax ©õØÓ¨£k® 

 (A) ‰»uÚ® P/S (B) Phß P/S 

 (C) £n P/S  (D) ö\»ÄPÒ P/S 

29. According to Companies (Amendment) Act 2000, a company 
limited by share can issue –––––––––– kinds of shares. 

 (a) 1   (b) 2 

 (c) 3   (d) 7 

 {ÖÁÚ[PÒ (v¸zu®) \mh® 2000 I¨ ö£õÖzuÁøμ, 

£[SuõμºPÍõÀ Áøμ¯ÖUP¨£k® J¸ {ÖÁÚ® £[SPøÍ  

–––––––––– £[SPÒ ÁÇ[SQßÓÚ. 

 (A) 1   (B) 2 

 (C) 3   (D) 7 

30. The public issue must be kept open for atleast 

 (a) 3 days  (b) 5 days 

 (c) 7 days  (d) 10 days 

 ö£õx ÂÁõu® SøÓ¢u£m\©õP vÓUP¨£h ÷Ásk® 

 (A) 3 |õmPÒ  (B) 5 |õmPÒ 

 (C) 7 |õmPÒ  (D) 10 |õmPÒ 

SECTION B — (20  2 = 40 marks) 

II. True or False : 

31. Book-keeping is an art of recording purchases transactions in 
the book of accounts. 

 ¦zuPP® PnUS £vÄ PnUSPÎÀ £vÄ öPõÒ•uÀ 

£›ÁºzuøÚPÎß J¸ Pø». 
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32. Business concern must prepare financial statements at least 
once in a year is based on accounting period assumption. 

 ÁoPU PÁÛ¨¦ J¸ BskUS J¸ •øÓ SøÓ¢u£m\® {v 

AÔUøPPøÍ u¯õ›UP ÷Ásk® PnUQ¯À Põ»® FP®. 

33. The author of the famous book “Arthasastra” is Kautilya. 

 ¦PÌö£ØÓ ¦zuP® “Aºu\ìzμõ” GÊv¯Áº öPÍiÀ¯õ. 

34. The source document gives information about the nature of the 
transactions. 

 ‰» BÁn® £›ÁºzuøÚPÎß ußø© £ØÔ¯ uPÁø» AÎUQÓx. 

35. The journal is a book of duplicate entry. 

 C¢u £zv›øP |PÀ ~øÇÂß J¸ ¦zu©õS®. 

36. Real accounts cannot have debit balance. 

 Esø©¯õÚ PnUSPÒ £ØÖa \©{ø»ø¯ öPõsi¸UP •i¯õx. 

37. Sub division of the journals into various books for recording 
transactions of similar nature are called subsidiary books. 

 C÷u ÷£õßÓ C¯Àø£ £vÄ ö\´ÁuØPõÚ £À÷ÁÖ ¦zuP[PÎÀ 

£zv›øPPÒ xøn ¤›Ä xøn ¦zuP[PÒ GßÖ 

AøÇUP¨£kQßÓÚ. 

38. In the triple column cash book, when a cheque is received the 
amount is entered in the discount column. 

 ‰ßÖ Põ»õÁv¯õÚ öμõUP¨ ¦zuPzvÀ, J¸ Põ÷\õø» ö£Ó¨£mh 

÷£õx, uÒÐ£i {μ¼À EÒÍ öuõøP ö\¾zu¨£kQÓx. 

39. The petty cashier generally works on imprest system. 

 ]Ô¯ Põ\õÍº ö£õxÁõP •ß Tmi÷¯ Aø©¨¤À ÷Áø» ö\´QÓõº. 

40. When cash is withdrawn from the bank, the bank credit the 
customer’s account? 

 Á[Q°À C¸¢x £nzøu v¸®£¨ ö£Ö®÷£õx, ÁõiUøP¯õÍº 

PnUøP Á[QU Phß öPõk¨£x. 

41. When errors are located and rectified, suspense account 
automatically gets closed? 

 ¤øÇPÒ Aø©¢xÒÍÚ ©ØÖ® v¸zu¨£k® ÷£õx, \ìö£ßì 

PnUS uõÚõP ‰h¨£k®. 
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42. ‘Salaries and wages’ appear on the trading account. 

 ‘\®£Í® ©ØÖ® Fv¯[PÒ’ ÁºzuP PnUQÀ ÷uõßÖ®. 

43. Provision for Bad and a Doubtful debt is deducted from Sundry 
Debtors in the trading account. 

 Áõμõ I¯UPhøÚ ÁÇ[SuÀ PhÚõÎPÎÀ C¸¢x ÁoPz 

öuõøP°À C¸¢x PÈUP¨£kQÓx. 

44. Incomplete records are those records which are not kept under 
Double Entry system. 

 §ºzv ö\´¯¨£mh £vÄPÒ Cμmøh ~øÇÄ •øÓ°ß RÌ 

øÁUP¨£hõu A¢u £vÄPÒ. 

45. Under insurance policy method, cash is paid by way of Premium 
every year. 

 Põ¨¥k £õ¼]°ß RÌ, JÆöÁõ¸ Bsk® ¤Ÿª¯® ‰»® £n® 

ö\¾zxQÓx. 

46. Bank overdraft is an example of Current assets. 

 Á[Q KÁº iμõL¨m uØ÷£õøu¯ ö\õzxUPÎß J¸ Euõμn®. 

47. The closing balance of one month will be the opening balance of 
the next month. 

 J¸ ©õuzvß CÖv \©{ø» Akzu ©õuzvß öuõhUP \©{ø»¯õP 

C¸US®. 

48. At the time of admission of a new partner new profit ratio should 
be found out. 

 J¸ ¦v¯ £[Suõμº ¦v¯ C»õ£ ÂQuzøu AÝ©vUPU Ti¯ 

÷|μzvÀ Psk¤iUP¨£h ÷Ásk®. 

49. At the time of retirement of partners, the existing partners 
stand to gain. 

 £[SuõμºPÎß K´Ä ÷|μzvÀ, HØPÚ÷Á C¸US® £[PõÎPÒ 

Buõ¯® ö£ÖQÓõºPÒ. 

50. Common Seal is considered as the official signature of the 
company. 

 ö£õxÁõÚ ^À {ÖÁÚzvß Ezv÷¯õP§ºÁ øPö¯õ¨£©õP 

P¸u¨£kQÓx. 

_______________ 


